IB Math HL2 : Binomial Distribution: Exit Slip

Name: _________________

1. a.  Expand 
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b.  An archer has a 90% chance of hitting a target with each arrow.  If 5 arrows are fired, determine the chance of hitting the target;

i)  twice only



ii) at most 3 times.

2. 72% of union members are in favor of a certain change to their conditions of employment.  A random sample of ten members is taken.
a. Write the binomial probability distribution function (
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, where r is in favor of a certain change)

b. Find the probability that three members are in favor of the change in conditions.

c. Find the probability that at least three members are in favor of the change in conditions.
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3. a.  Expand 
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b.  An archer has a 90% chance of hitting a target with each arrow.  If 5 arrows are fired, determine the chance of hitting the target;

i)  twice only



ii) at most 3 times.

4. 72% of union members are in favor of a certain change to their conditions of employment.  A random sample of ten members is taken.

d. Write the binomial probability distribution function (
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, where r is in favor of a certain change)

e. Find the probability that three members are in favor of the change in conditions.

f. Find the probability that at least three members are in favor of the change in conditions.
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